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Model test khjpupj; Nju;T          fhyk; 3 kzp 

Mrpupau; jFjpj;Nju;T jhs; 2 fzpjk; kw;Wk; mwptpay; 

Foe;ij Nkk;ghLk; fw;gpj;jy; KiwfSk; 

1. Nuhk; ehl;L Nju; nry;Yk; ghij vd;w nghUis czu;j;jpa’ fnuup ‘ vd;w ,yj;jPd; nkhopr;nrhy;ypy; 
,Ue;J te;jJ 
A. fy;tp cstpay;  B. fiyj;jpl;lk; C. fyhr;rhuk;  D. Ez;zwpT 

2. kdpju;fs; jq;fs; Njitfis epiwNtw;wpf; nfhs;s Vw;gLj;jpf;nfhz;l mikg;Ng r%fk; vd;W 
$Wgtu; kw;Wk; mtuJ Nfhl;ghL 
A. ^ap – gadPl;Lf; nfhs;if   B. &Nrh - ,aw;iff;nfhs;if 
C. u];]y; - Nkk;gl;l r%jhak;   D. fhe;jp – Mjhuf; fy;tp nfhs;if 

3. tFg;G xd;wpy; xU FOtpdu; mbg;gil ghlq;fspy; Nghjid ngUk;nghOJ kw;nwhU gpupT rpwg;G 
nray;ghLfspy; <LgLk; Kiw 
A.tpd;ndl;fh jpl;lk;  B. N`htu;L jpl;lk;  C. gps^d; Kiw D. nghJg;gs;sp Kiw 

4. xOf;f tsu;r;rpf;Fk; > Kjpu;r;rp ngWjYf;Fk; njhlu;G cz;L vd;W fUjpatu; 
A. kf;̂ fy;   B. nkf;fitu;  C. G&du;  D. Nfhy;gu;f; 

5. FOf;fhuzpf; nfhs;if KBTfspypUe;J Ez;zwpT tsu;r;rpf; Nfhl;ghl;il cUthf;fpatu; 
A. fpy;gu;l;   B. H.E Nful;  C. gh;l; ntu;zu; D. ];gpau;nkd; 

6. ,Uj;jy; rjtPjj;jpw;Fk; > fw;wYf;F gpd; fle;j ehl;fSf;Fk; cs;s njhlu;G Fwpf;Fk; tiuglk; 
A. Neu;Nfhlhf mikAk;   B. X- mr;Rf;F ,izahf mikAk; 
C. Kjypy; Neu;Nfhlhfp gpd;du; caUk; D. tisNfhlhf mikAk; 

7. csf;fpfshy;  J}z;lg;gLk; elj;ijfs; vOtJ jilg;gl;lhy; Vw;gLtJ 
A. kd tpiwg;G epiy  B. kd vOr;rpePl;rp C. kfpo;r;rp  D. mtkupahij 

8. ,uz;L vjpu; csf;fpfs; rk typikAld; nray;gLtjhy; Vw;gLk; kdg;Nghuhl;lk;  
A. mZFjy; - mZFjy;    B. mZFjy; - tpyFjy;  
C. tpyFjy; - tpyFjy;     D. jw;fhg;G elj;ij 

9. nrq;Fj;J rpe;jid gf;f thl;L rpe;jid ,tw;wpy; NtWghl;il tpsf;fpatu; 
A. B nrf;Nfh   B. vl;tu;l; bNghdh C. Nrhk;];fp  D. fpufhk;thy]; 

10. glq;fSk; vz;fSNk gad;gLj;jg;gl;l njhFjpr; Nrhjid 
A. My;gh Nrhjid  B. gPl;lh Nrhjid C. gPNd Nrhjid D.ghl;bahNrhjid 
mLf;F 

11. rpwg;G gapw;rp ngwhky; XNu rkaj;jpy; ,U nray;fis ftdj;Jld; nra;a ,ayhJ vd 
cstpaywpQu;fs; Fwpg;gpLtJ 
A. ftd khw;wk;   B. ftd tPr;R  C. ftdf;Fiyg;ghd;  D. ftdg;gFg;G 

12. r%f vjpu;ghu;g;GfSld; $ba tsu;r;rpapidf; Fwpf;Fk; nray;fs; ------ vd;W $wpatu; --------- 
A. tsUk; nray;fs; : thl;rd;   B. Kaw;rp rhu; nray;fs; - n`g; 
C. tsu;r;rp rhu; nray;fs; : N`ypf];l; D. nkhop rhu; kdtpay; : M];Fl; 

13. xUq;fikjy; > ,zq;Fjy; ,tw;iw gpahN[ ,t;thW Fwpg;gpLfpwHu; 
A. tsu;r;rp rhu; nray; $Wfs; (Developmental) B.  mwpjpwd; $Wfs; 
C. khwhr;nray;$Wfs;   D. ,ul;ilf;$Wfs; (DIvarient 

14. Kd;Ndhf;fj;jil epfo;r;rpapid Nrhjidapd; mbg;gilapy; tpsf;fpAs;shu;fs; 
A. Ky;yu; : gpy;rq;fu;    B. MRgy; : md;lu;Tl; 
C. A+q; : Mlyu;     D. iyu; : Ky;yu; 

http://www.successacademy.org.in/


www.successacademy.org.in                 SUCCESS ACADEMY – 97908 25923, 97908 25927 
 
 

15. nghUj;Jf    X ) ,l;   -  P) MSik epu;thfp 
      Y) <Nfh  - Q) kdrhl;rp 
      Z) #g;gu;<Nfh  - R) ypgpNlh 
A. (X,R)(Y,P) (Z,Q) B. (X,P)(Y,Q) (Z,R) C. (X,R)(Y,Q) (Z,P) D. (X,P)(Y,R) (Z,Q) 

16. newp rhuh mwpTiu gfu;jiy gpugyg;gLj;jpatu; 
A. F. C. jhu;d;   B. N`ha;l;  C. fhu;y; Nuh[u;]; D. N`l;gPy;L 

17. khztd; jhd; Nkw;nfhs;Sk; vy;yhr;nray;fspYk; rpwg;G kpf;f cau; rhjidia mila Kw;gLjy;  
,jd; ,yf;fhf mikfpwJ 
A. Ez;zwpT   B. MSik  C. moFzu; fw;gid D. milt+f;fp 

18. VNjh xU fUj;ij my;yJ tpjpia Neubahfg; gad;gLj;jp xU gpur;ridf;F tpil fhZk; 
fhf;Ndapd; gapw;rp khw;wk; 
A. gf;f khw;wk; ( Lateral Transfer)   B. nrq;Fj;J khw;wk; 
C. cl;fhl;rp khw;wk;    D. #d;a khw;wk; (null transfer)  

19. nghUj;Jf 
   1. gFg;gha;T cstpay;  --- 1. Ml;yu; 
   2. jdpegu; cstpay;   --- 2. Ku;Nu > khu;fd; 
   3. nghUs; ,izj;jspNrhjid  3. fhu;d; A+q; 
A. (1>2) (2>3)(3>1)   B. (1>3) (2>1)(3>2) C. (1>1) (2>2)(3>3) D. (1>3) (2>2)(3>1) 

20. nghUj;jkw;w ,iz  Z) milt Tf;fp  - ml;fpd;rd; 
     Y) Ez;zwpT       - ];nlhlhu;l; 
     Z) Ez;zwpT <T -    nlu;nkd; 
A. X,Y    B.Y,Z  C. Y kl;Lk;  D. Z kl;Lk; 

21. nkhopj;jpwd; tsu;r;rpapy; Kad;W jtwpf;fw;wy; eLtplk; ngWfpwJ vd;wtu; 
A. M];Fl;   B. Nfhk;];fp  C. ];fpd;du;  D. thl;rd; 

22. kfpo;r;rp ngWjYk; > jz;lidfisj; jtpu;j;jYk; xOf;f tpjpfis gpd;gw;Wk; Nehf;fq;fshf 
mikAk; epiy 
A. kuGf;F gpe;jpa epiy (post conventional) B. kuGf;F Ke;jpa epiy ( pre conventioanl)  
C. kuG epiy ( conventional)   D. jdpj;j epiy ( personal stages) 

23. kPj;jpwf; Foe;ijfSf;Fwpa fy;tp Kiw 
A. Mw;wy; top tifg;gLj;Jjy; Kiw   
B. Jupjg;gpupT khw;wy; Kiw ( Graded acceleration method) 
C. ghlj;jpl;lj;ij mjpfupf;Fk; Kiw (Enrichment method) 
D. Nkw;$wpa midj;Jk; 

24. gs;spapy; xU Foe;ij mOtijg;ghu;j;J kw;w Foe;ijfSk; moj;njhlq;FtJ 
A. jd;dpay;G gpd;gw;Wjy;  ( Spontaneous imitation) 
B. ebg;Gg; gpd;gw;Wjy;   (Dramatic imitation) 
C. kwptpidg;gpd;gw;Wjy; (Reflex imitation) 
D. tpUg;gj;Jld; gpd;gw;Wjy; (Voluntary imitation) 

25. gpahN[tpd; fUj;Jg;gb njhlf;f epiyapy; Foe;ijfspd; mwpT tsu;r;rp 
A. nkhopj;njhlu;Gld; epfo;tjhFk;  B. nkhopj;njhlu;gpd;wp epfo;tjhFk; 
C. tl;lhu nkhopapd;wp epfo;tjhFk;  D. kpfkpf Ntfkhf tsu;e;J epd;W tpLfpwJ 

26. “rKjhak; “ vd;w E}iy vOjpatu;fs; 
A. [hd;̂ ap : &Nrh  B. &Nrh : kf;̂ fy; C. nkf;iftu; : Ng[; D. A+q; : Mlyu; 

27. kPj;njsp rhay;fs; ,e;j taJf;Fg; gpd; Fiwe;J tpLk; 
A. 60 taJ   B. 40 taJ  C. 16 taJ  D.12 taJ 
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28. kpfr;rupahd njhFg;igj;Nju;e;njL 
A. ght;yt; - eha; - Kad;W jtwpf;fw;wy; B. ];fpd;du; - vyp – Mf;fepiyAWj;jy; 
C. ght;yt; - eha; - fUtprhu; epiyapWj;jk; D. ];fpd;du; - vyp – nrayhf;f epiyapWj;jk; 

29. nghUe;jhj njhFjpiaf; Fwpg;gpLf 
1. kpd;dNfhl;l Nrhjid  - kdg;ghd;ik mstply; 
2. lhnud;]; - kdvOr;rp tsu;r;rp 
3. gPNd  - Ez;zwpT Nrhjidapd; je;ij 
4. [hf;Nkau; -kd vOr;rp Ez;zwpT 
A. 3    B. 4   C. 1 kw;Wk; 2  D. 1 kl;Lk; 

30. kh];Nyhtpd; gbepiyj; Njitfspd; mbg;gilj; Njit 
A. jd;kjpg;G Njitfs;    B. jd;epiwTj;Njitfs;  
C. clypay; Njitfs;    D. moFzu; Njitfs; 
      nkhop – jkpo; 

31. cyfk; ahitAk; - vdj; njhlq;Fk;  ghly; fk;guhkhaz ----------- fhz;lj;jpy; cs;sJ 
A.  ghy    B. Muz;a  C. Aj;j  D. fpl;fpe;jh 

32. nkhopfs; gy Njhd;wp tsu mbg;gilahdJ -----------nkhop 
A. jha;    B. Ntu;   C. %y  D. ngU 

33. ,tw;Ws; msngLf;Fk; nka;fs; 
A. u; o;     B. f; > u;  C. j; > g;  D. y; > t; 

34.   Xw;wsngil  ---  m ) muq;fk;    A.  m M , <  B.  m  , M < 
   nra;Aspir  ----  M)  FbjoPF   C. m < M ,  D.  m , < M 
  ,d;dpir  ----  ,) cohmu; 
  nrhy;ypir  ---- <)  vLg;gJ}ck; 

35. jpUts;Stiug; gbj;Jg;ghu; - ,J -------------------- MFngau; 
A. fUtp    B. fUj;jh  C. fhupa  D. nrhy; 

36. kJiug; ge;je;jhjp – E}ypd; Mrpupau; 
A. ef;fPuu;   B. GfNoe;jp  C. xl;lf;$j;ju; D. guQ;Nrhjp 

37. jkpo; ngUq;fhtyu; vd;wiof;fg;gl;ltu; 
A. fp.M. ng tpRtehjk;  B. jpU. tp. f  C. ghthzu;  D. kiwkiymbfs; 

38. jkpo; ehl;by; elj;jg;gl;l Kjy; Njrpa ehlfk; 
A. Njrpaf;nfhb   B. Njrgf;jp  C. fjupd; ntw;wp D. jha;ehL 

39. epyk; > ePu; > jP> tsp > tpRk;NghL Ie;Jk;   
fye;j kaf;fk; Mjypd; -- ,j;njhlu; ,lk;ngw;Ws;s E}y; 
A. GwehD}W   B. ed;D}y;  C. njhd;D}y; tpsf;fk; D. njhy; fhg;gpak; 

40. nghUe;jh ,izia fz;lwpf 
 A. ghujpjhrd; - gprpuhe;ijahu;   B. kNfe;jputu;kd; - jl;rpdhrpj;jpuk; 
C. fk;gu; - <l;b vOgJ     D. fhupahrhd;  - rpWgQ;r %yk; 

41. kJiuia %J}u; vdf; Fwpg;gpLk; ,yf;fpak; 
A. kJiuf;fhQ;rp  B. gl;bdg;ghiy C. kzpNkfiy D. rpyg;gjpfhuk; 

42. jpUr;nre;jpw; fyk;gfk; - E}ypd; Mrpupau; 
A. FkuFUguu;  B. kapNyWk; ngUkhs; C. Rthkpehj Njrpfu;  D. tPu uhftu; 

43. ,e;jpa E}yfj;je;ij vd;wiof;fg;gLgtu; 
A. C.Nt. rh   B. kiwkiymbfs; C. muq;fehjd; D. nrapd;l; [hu;[; 

44. Ie;jhk; jpUkiw - ,tUila Njthuk; 
A. jpUQhdrk;ge;ju;  B. jpUehTf;furu; C. khzpf;f thrfu; D. Re;juu; 
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45. nea;jYf;Fupa ngUk; nghOJ 
A. Fspu;fhyk;   B. MWngUk; nghOJk; C. Kd;gdp D. ,sNtdpy; 

46. rPwhg;Guhzk; ------------- ghtifia rhu;e;jJ 
A. tpUj;jk;   B. jhopir  C. ntz;gh  D.fhg;gpak; 

47. giftdplk; md;G vdf; $Wk; E}y; 
A. gftj;fPij   B. kfhghujk;  C. iggps;  D. rputzgpJu;gj;jp 

48. jpUf;Fwis nkhopngau;j;j ,u\;a mwpQu; 
A. lhy;];lha;   B. khf;];Ky;yu; C. nfy;yl;  D. ngu;dhl;\h 

49. mk;Ngj;fu; gpwe;j Cu; 
A. Gj;jd; re;ij   B. mk;gthNl  C. mfkjhghj; D. kfhj;Jf;Fsk; 

50. gupjpkhw;fiyQu; cau;jdpr;nrk;nkhop vd;Dk; fl;Liuia vOjpa ,jo; 
A. rpj;jpuf;ftp   B. Qhd Nghjpdp C. jkpo; tpahrq;fs; D. nre;jkpo; 

51. ‘m > M “ - ,t;ntOj;Jf;fspd; Kd; Njhd;Wk; cld;gLnka; 
A. a;    B. t;    C. ,uz;Lk;  D. ,uz;Lk; ,y;iy 

52. fhup – vd;wiof;fg;gLk; Nfhs; 
A. Gjd;    B. nrt;tha;  C. rdp  D. tpahod; 

53. fy;Nky; vOj;J – ePu; NKy; vOj;J gw;wpf; $wpatu; 
A. xsitahu;   B. mjptPuuhkghz;bau; C. nfhd;iwNte;jd; D. jpUts;Stu; 

54. jkpou;fspd; mwE}y; 
A. ,uhkazk;   B. kfhghujk;  C. jpUf;Fws;  D. mwnewpr;rhuk; 

55. gpioaw;wj; njhlu; vJ 
A. mtd; je;jg; ngl;b  B. mtd; je;j ngl;b C. mtd;j; je;j ngl;b D. mtd; je;jg;ngl;b 

56. fhkuhru; Kjyikr;ruhfg; gjtpNaw;w Mz;L 
A. 1948    B. 1958  C. 1956  D. 1954 

57. mwptpd; fliyf; file;jtdhk;  
mkpu;jj; jpUf;Fws; mile;jtdhk; - ,j;njhlu; ,lk; ngw;Ws;s E}y; 
A. jpUts;Stkhiy  B. jpUtUl;gh  C. jkpod; ,jak; D. jkpopaf;fk; 

58. jisapd; tif ----------   A. 6  B. 7  C. 8   D. 9 

59. gpd;tUtdtw;Ws; kyu; tha;ghL ngWk; rPu; 
A. tpsf;F    B. md;W   C. jiy  D. kw;W 

60. fhsj;jpNtlDk; fq;if NtlDk; ,f;fl;Liuapd; Mrpupau; 
A. gupjpkhw;fiyQu;  B. C.Nt.rh  C. uh.gp. NrJg;gps;is D. ftpkzp 

      Mq;fpyk; - English 

61. Identify the most unsuitable explanation for the idiom used in the sentence given below: 
Dr. Jacob is at the helm of affairs in this hospital 
A)  in charge         B) damnation    C) no profit or loss   D) a past record without  discredit 

62.  Choose the appropriate tag for the sentence given below: 
 India is a land of diversity……………..? 
A. Isn’t it            B.  Isn’t he     C. Isn’t she     D.  wasn’t it 

63. Complete the sentence by supplying appropriate connecting from the option listed below. 
________ you knocked at the door she ________sleeping. 
A)  how, is             B) when, was       C) while ,was     D) which, is 
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64. complete the sentence by supplying an appropriate verb? 
Before he took up the job he ________ his own business 
A.  was having       B. has had          C.  had had       D. has been 

65. How many syllables are there in the word ‘disqualification’ 
A. 5        B.   4           C. 6               D. 3 

66. If maroon is the state one who is stranded .   Choose the homophone for the word which means 
        ‘The  heavenly celestial body that most of the poets sung of’ 
A) tycoon     B) typhoon     C) swoon    D) moon 

67.  “__________ means the level and style of a piece of writing  or speech that is usually appropriate  to the 
situation of field that is used in” 
A. Register    B. Jargon    C. Cliché   D. Dialect 
 

(Q. Nos. 68  to  71 )  Choose the word or phrase to fit each blank which best completes each  sentence: 

68. We still believe that India can still________ a major country in the global economy 
A. emerge        B. in evident      C.  in ostensible     D.  unambiguous 

69. Attainment of developed status by 2020 does not mean that we can then rest  
on laurels 
A. failures       B. rewards       C. wealth      D. glory 

70. The name sounds familiar but I can’t call her face to mind 
A.  recognise      B.  recollect     C. retrieve    D. reveal 

71.  _______ must submit their assignments by this evening. 
A.  somebody     B. nobody      C.  anybody     D. everyone 

(Q. Nos 72 to 76)  
 
Read the following passage. Select the best answer from among the given  choices for each question 
 
Speaking well can have a definite ‘say’ on your professional and private life. How well or otherwise you speak is 
judged by the quality of your voice apart from the other linguistic features.  So linguists maintain that the impression 
you make on others often depends on how o speak rather than what you speak. 
 
    From the quality of your voice and your manner of saying things, people will deduce a great a about 
your personality in general and your feeling confident  or diffident, excited  or depressed , hostile or friendly.  They 
will, to some extent come to know your age and sex as also your geographical and social background from our accent.  
They may deduce your physical and psychological as your voice often reveals your poor health and stress.  Your 
personality too shows through your voice.  If you speak rapidly it shows that your are less confident or on the other 
hand tend to sound bore. 
   A clear and confident articulation usually indicates a firm and astute grasp of the subject.  Halting or 
hesitant speech often indicates confusion or uncertainty.  No own, however needs to be a slave to poor speaking 
habits.  These fetters can be broken by constant practice.  Build your self confidence.  Confidence helps you 
communicate more effectively    

72. ____________is the one who studies about language   
A. linguists  B. physists       C.  psychiatrist    D.  dentist 

73.  From the first paragraph we can deduce 
A.  our voice  in no way connected  to judge a person 
B.  linguists are more concerned about our quality of speech 
C.  The content we speak reveals who we are 
D.  The tone and speech pattern tells about us 
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74. The quality of our speech would make others  
A.   to understand our moods and feelings B.   unable to infer what is there in our mind 
C.   unable to study ones inner self.  D.   to read only outward disposition 

75.  what is the remedy to over come the speech difficulty? 
A.  Nothing can be done as it is in born  B.  By relentless effort we can get through  
C.  we must undergo a surgery in our mouth D.  we must not open our mouth 

76.  Our speech plays a vital role in  
A.  In determining not only our personality but the whole things about us 
B.  Determining our career. 
C.  Our psychological and geographical features about us. 
D.  All the above 

77.  Choose the most appropriate adjective clause that can replace the adjective     phrase in the 
sentence:             It was delicious 
A)  The dish was delicious         B)    The dish was being delicious 
C)  It was a delicious dish         D)     The dish that my mother had made was delicious 

78. 78. In the sentence “I can hear you over phone” the word ‘over’ functions as 
A) Adjective         B) preposition       C) adverb        D) verb 

79.  Fill in the blanks with the most appropriate  article from the options given below   
   ______ jail is a place where many get atonement 
A)     a              B)     an         C)     the          D)  no article 

80.  pick the odd one from among the words given below 
A)  penitence           B)   amends       C)  penance    D) depreciate 

81.  Which of the following is  not a negative sentence 
A)  I never came late to the              B)  The concert is yet to commence 
C)  All his efforts did not turn futile          D)  His speech is incomprehensible 

82.  Arrange the jumbled sentence 
E. Some ten years ago , when paddy prices were as high as five to seven rupees a bushel.  F. rich 
people from Changnassery and Thiruvalla, had come there for paddy cultivation. 
G. They got on lease, groups of paddy fields from affluent landlords 
H.  They used a tractor for deep-ploughing  and new fertilizers, to produce bumper crops  
A)  FEHG       B) EFGH       C)   HEFG      D) GEHF 

(Q.Nos 83 and 84) 
Identify the italicized expression (A, B, C or D) that must be changed in order to correct the sentence.  

83.  what the problem was(A)   the doctor asked  (B) and enquired me   (C) what food I ate last (D)  

84. your behaviour and (A)guide your thoughts and  , (B)actions to your desired outcome   (C)goals 
provide direction to   (D) 

85. Identify the figure of speech in the given sentence. 
 My Grandma’s hair is as white as snow 
A)  apostrphe               B) metaphor      C) hyperbole         D) simile 

86. pick up the adjectives which can  best fill in the blank  
_______ knowledge is always dangerous 
 A) any   B) some      C) few      D) little 
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87. which is the most appropriate passive form of the sentence? 
      “she sold vegetables in the market” 
 A)  vegetable is sold in the market by her  
   B)  Vegetables are sold in the market by her 
 C)   vegetables are being sold in the market by her 
 D)   vegetables are to be sold in the market by her  

88. The most appropriate conversion  of the given complex into a simple 
        sentence “Even though she is beautiful she is modest” is 
A) She is beautiful but she is modest  B) If she is beautiful she is modest 
C. Despite of being beautiful she is modest D. Inspite of being beautiful she is rich. 

89. Teaching is ____________ profession 
A. anoble     B. idle      C. enterprenaur    D.  prosperous 

90. If I had known this  I ___________handled her. 
 A. will have              B.  would have     C.  have had           D. could have  

      fzpjk; - Mathematics 

91.  GCD of 332 )(,2 yxyxyx +++ and )(25 22 yx −  is 
A. (x+y)   B. (x – y)  C. (x2 - y 2)   D. 25 ( x2 – y2) 

332 )(,2 yxyxyx +++  kw;Wk; )(25 22 yx −  ;d;p kP.ngh.t 

A. (x+y)   B. (x – y)  C. (x2 - y 2)   D. 25 ( x2 – y2) 
 

92. when x3 + x2 – 7x – 3 divided by x-3 then the quotient is 
A.   x2 + 4x +5  B.  x2 - 4x +5  C.  x2 + 4x – 5   D.  x2 - 4x – 5  
x3 + x2 – 7x – 3I x-3  My; tFgLk;NghJ fpilf;Fk; <T 
A.   x2 + 4x +5  B.  x2 - 4x +5  C.  x2 + 4x – 5   D.  x2 - 4x – 5  

93. The quadratic equation having  37 +  and 37 − as roots is 
A. x2 +14x+ 46 = 0 B. x2 -14x+ 46  C. x2 -14x+ 46 = 0  D. x2 +14x+ 46  

37 +   37 −  %yq;fshf nfhz;l ,Ugbr;rkd;ghL 
A. x2 +14x+ 46 = 0 B. x2 -14x+ 46  C. x2 -14x+ 46 = 0  D. x2 +14x+ 46  
 

94. If the roots of the equation 2x2 – 3x -1 are α and  β then the value of 





 +







+ β

αβ
α 11

  

A. ¼   B. – ½    C. ½     D. – ¼  

2x2 – 3x -1  vd;w rkd;ghl;bd; %yq;fsα   β ; vdpy; 





 +







+ β

αβ
α 11

  d; kjpg;G 

A. ¼   B. – ½    C. ½     D. – ¼  

95. The fractional value 0.5 7 is 
0.5 7 d; gpd;d kjpg;G 

A. 
48
26

   B. 
35
26

   C. 
45
26

   D. 
65
26

 

96. Which of the following is non ending recurring decimal expansion 

A. 
16
7

   B. 
150
13

   C. 
200
17

  D. None of the above 

 fPo;fz;ltw;Ws; vJ KbTwh Roy; jrktpupitf;nfhz;bUf;Fk; 
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A. 
16
7

   B. 
150
13

   C. 
200
17

  D. None of the above 

97. In an Arithmatic progression t7 = 45 , t9 = 57 then the first term of an AP is 
A. 6   B. 9   C. 12   D. 5 
xU $l;Lj;njhlu; tupirapy t7 = 45 , t9 = 57; vdpy; KjYWg;G 
A. 6   B. 9   C. 12   D. 5 

98. The value of .......3333  is 

.......3333  d; kjpg;G 
A. 3   B. 1   C. 0.33   D. 0.999 

99. 1 + 4 + 4 = 9 ; 4 + 9 + 36 = 49 ; 32+ 42+122 = 169 and 62 + 72+x2 = y2 then the value of x and y is 
A. 22, 23   B. 42, 43  C. 31,32  D. 41, 42 
1 + 4 + 4 = 9 ; 4 + 9 + 36 = 49 ; 32+ 42+122 = 169 and 62 + 72+x2 = y2 vdpy; x kw;Wk; y d; kjpg;Gfs; 
KiwNa 
A. 22, 23   B. 42, 43  C. 31,32  D. 41, 42 
 

100. A and B can do a piece of work in 12 days. B and C together do it in 15 days .If A is twice as good as 
workman C then the time in which B will alone do it is 
A. 20 days  B. 25 days  C. 15 days  D. 18 days 
A kw;Wk; B ,UtUk; Nru;e;J xU Ntiyia 12 ehl;fspy; Kbg;gu;> B kw;Wk; C  ,UtUk; Nru;e;J mNj 
Ntiyia 15 ehl;fspy;Kbg;gu;.Aapd; jpwd; C apd; jpwidg; Nghy ,Uklq;F vdpy; B kl;Lk; jdpahf 
mt;Ntiyia Kbf;f MFk; ehl;fs; 
A. 20 ehl;fs;  B. 25 ehl;fs;  C. 15 ehl;fs;  D. 18 ehl;fs; 

101. In the mixture of 35 litres ,the ratio of milk and water is 4:1 . If 1 litre of water is added to the mixture 
the new ratio of milk to water is 
A.  2 : 6   B. 5 : 1   C. 5 : 2   D. 7 : 2 
35 ypl;lu; nfhz;l xU fyitapy;  ghy; kw;Wk; ePupd; ,iaG 4 : 1. ,f;;fyitAld; 1 ypl;lu; ePu; 
Nru;f;fg;gl;lhy; jw;NghJ ghy; kw;Wk; ePupd; ,iaG 
A. 2 : 6   B. 5 : 1  C. 5 : 2  D.7:2 

102. The arithmetic mean of prime factors of 24 is 
A. 2.25   B. 2.5   C. 3    D. 3.5 
24 d; midj;J gfhf;fhuzpfspd; $l;Lr;ruhrup 
A. 2.25   B. 2.5   C. 3    D. 3.5 

103.  if the arithmetic mean of x, x+2 , x+ 4, x+6 , x+8  is 20 then the value of x is 
A. 32   B. 16   C. 8    D. 4 
x, x+2 , x+ 4, x+6 , x+8 vd;gtw;wpd; $l;Lr;ruhrup 20 vdpy; x d; kjpg;G 
A. 32   B. 16   C. 8    D. 4 

104. The average age of 5 children is 8 years. If the age of father is included , the average age is 
increased by 7 years then the age of the father is 
A. 20 years  B. 30 years  C. 40 years   D. 50 years 
5 Foe;ijfspd; ruhrup taJ 8 Mz;Lfs;. ,tw;Wld; je;ijapd; tajpidAk; Nru;j;J fpilf;Fk; 
ruhrup 7 Mz;Lfs; vdpy; je;ijapd; taJ 
A. 20Mz;Lfs;   B. 30Mz;Lfs; C. 40Mz;Lfs;  D. 50 Mz;Lfs; 

105. The expenditure of 100 families are given in the table. If the mode of the distribution is 25, then the 
value of x1 and x2 is 
A. 22, 22   B. 23,21  C.24,20   D. none of these 
100 FLk;gq;fspd; nrytpdq;fs; ml;ltizapy; jug;gl;Ls;sd 
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gutypd; KfL 25 vdpy; x1 , x2 d; kjpg;Gfs; KiwNa 
A. 22, 22   B. 23, 21  C. 24,20   D. Nkw;$wpa vJkpy;iy 

106. A child is playing with cubes of side 5cm, he arranged the cubes as in the figure 
then the volume of the shape is 
A. 405 cm3  B. 205 cm3  C. 500 cm3  D. 215cm3 

XU Foe;ij 5nrkP gf;f msT nfhz;l fdr;rJuj;ij nfhz;L tpisahLk; 
NghJ glj;jpy; fhl;bAs;s tbtj;ij mikf;fpwhs; vd;py; mikf;fg;gl;l tbtj;jpd; fd; 
msT 
A. 405 cm3  B. 205 cm3  C. 500 cm3  D. 215cm3 

 

107. In the given figure, AB is one of the diameters of the circle and OC is perpendicular to it 
through the center O. If AC is 7 2 cm, then what is the area of the circle in cm2 
A.  24.5    B. 49   C. 98    D. 154 
nfhLf;fg;gl;l glj;jpy;AB vd;gJ tl;lj;jpd; tpl;lk; OC vd;gJ tl;l ikak; O tpd;  
topNa tiuag;gl;l nrq;Fj;Jf;NfhL kw;Wk; AC 7√2 nrkP vdpy; tl;lj;jpd; gug;G  
r.nrkPy; 
A.  24.5    B. 49   C. 98    D. 154  

108. In the given figure, OP bisect ∠BOC and OQ bisect +AOC.Then ∠AOC is equal to 
A. 90°   B. 120°   C. 60°  D. 100° 
nfhLf;fg;gl;Ls;s glj;jpy; ∠BOC d; ,Urkntl;b OP kw;Wk; ∠AOC d; 
,Urkntl;b OQ vdpy; ∠POQ d; kjpg;G 
A. 90°   B. 120°   C. 60°  D. 100° 

109. 6 times of the complementary angle is 12 ° less than its supplementary then measure of angle is 
A. 48°   B. 96°   C. 24°    D. 58° 
xU Nfhzj;jpd; epug;Gf;Nfhzj;jpd; MWklq;fhdJ > mjd; kpif epug;Gf;Nfhzj;ij tpl 12° 
FiwT vdpy; mf;Nfhzj;jpd; msT 
A. 48°   B. 96°   C. 24°    D. 58° 

110. The angle in a semicircle is 
A. obtuse  B. right angled  C. acute   D. complementary 
miutl;lj;Jz;by; mikAk; Nfhzk;  
A. tpupNfhzk;  B. nrq;Nfhzk; C. FWq;Nfhzk;  D. epug;G Nfhzk; 

111. The area of a sector of radius 4cm and central angle 60 ° is 

A.
3

2π
 r.nrkP  B. 

3
4π

 r.nrkP  C. 
3

8π
 r.nrkP   D. 

3
16π

 r.nrkP 

tl;lNfhzg;gFjpapd; Muk; 4 nrkP ikaj;jpy; jhq;Fk; Nfhzk; 60° vdpy; mjd; gug;G 

A.
3

2π
 r.nrkP  B. 

3
4π

 r.nrkP  C. 
3

8π
 r.nrkP   D. 

3
16π

 r.nrkP 

112. If 6 men by working 10 hours completes the work in 24 days. how long will it to complete the 
same work by 9men working 8 hours is 
A. 15day  B. 16 days  C. 18 days   D. 20 days 
 6 Mz;fs; xU Ntiyia 10 kzp Neuk; nra;J 24 ehl;fspy;  Kbg;gu;. 9 Mz;fs; 8 kzp 
Neuk; Ntiynra;jhy; Ntiy Kba MFk; ehl;fspd; vz;zpf;if 
A. 15   B. 16   C. 18    D. 20 

113. If the third term of a G.P is 2, then the product of first 5 terms is 
A. 52   B. 25   C 10     D 15 
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xU ngUf;Fj;njhlu; tupirapd; Kd;whtJ cWg;G 2 vdpy;p Kjy; 5 cWg;Gfspd; 
ngUf;fy;kjpg;G 
A. 52   B. 25   C 10     D 15 
 

114. The perimeter of two similar triangles ∆ABC and ∆DEF are 36 cm and 24 cm respectively. If 
DE = 10 cm, then AB is 
A 12 cm   B 20 cm   C 15 cm    D 18 cm 
∆ABC kw;Wk; ∆DEF ; d; Rw;wsTfs; KiwNa 36 nrkP kw;Wk; 24 nrkP  kw;Wk; DE = 10 nrkP 
vdpy; AB apd; kjpg;G  
A 12 cm   B 20 cm   C 15 cm    D 18 cm 

115. The surface areas of two spheres are in the ratio of 9 : 25. Then their volumes are in the ratio 
A. 81 : 625   B. 729 : 15625  C. 27 : 75    D 27 : 125. 
,U Nfhsq;fspd; tisgug;Gfspd; jfT 9 : 25 vdpy; mitfspd; fdmsTfspd; jfT 
A. 81 : 625   B. 729 : 15625  C. 27 : 75    D 27 : 125. 

116. If the circumference at the base of a right circular cone and the slant height are 120 cm and  
10 cm respectively, then the curved surface area of the cone is equal to 
A. 1200 cm2  B 600 cm2

  C 300 cm2
   D 600 cm2 

xU Neu;tl;l $k;gpd; mbg;gug;gpd; Rw;wsT kw;Wk; rhAuq;fs; KiwNa 120 nrkP kw;Wk; 
10nrkP vdpy; $k;gpd; tisgug;G 
A. 1200 cm2  B 600 cm2

  C 300 cm2
   D 600 cm2 

117. For the system of equation x – 4y = 8 and 3x- 12 y = 24. 
A. Tjere are infinitely many solution  B. no solution 
C. unique solution    D. none of the above 
x – 4y = 8 kw;Wk; 3x- 12 y = 24. vd;w rkd;ghL njhFg;gpw;F  
A. vz;zpylq;fh gy jPu;Tfs; cs;sd  B. jPu;Tfs; ,y;iy 
C. XNu XU jPu;T cz;L   D. Nkw;$wpa vJTkpy;iy 
 

118. Which of the following statement is / are true 
A.The orthocentre of an acute angled triangle lies inside the triangle. 
B. The orthocentre of a right triangle is the vertex of the right angle. 
C. The orthocentre of an obtuse angled triangle lies outside the triangle 
D. all the above 
fPo;fz;ltw;Ws; rupahd $w;W /$w;Wfs; vit 
A.FWq;Nfhd Kf;Nfhzj;jpy; Rw;Wtl;l ikak; cl;gFjpapy; mikAk; 
B. nrq;Nfhz Kf;Nfhzj;jpy; Rw;Wtl;l ikak; fu;dj;jpd; eLg;Gs;spapy; mikAk; 
C. tpupNfhz Kf;Nfhzj;jpy; Rw;Wtl;l ikak; Kf;Nfhzj;jpw;F ntspNa mikAk; 
D. Nkw;$wpa midj;Jk; 
 

119. Three circles with centres A.B and C touch each otherexternally. AB = 4cm , BC = 6 cm CA = 8cm 
which of the following is not the radius of any circle 
A. 5 cm   B. 1 cm  C. 3cm    D. 4 cm 
A , B & C I ikaq;fshf nfhz;l %d;W tl;lq;fs; ntspg;Gwkhf xd;iwnahd;W njhLfpd;wd . 
AB = 4cm , BC = 6 cm CA = 8cm vdpy; fPo;fz;ltw;Ws; vJ ve;j xU tl;lj;jpd; Mukhf ,Uf;fhJ 
A. 5 cm   B. 1 cm  C. 3cm    D. 4 cm 

120. The probability of occurance of rain is 0.76, then the chance on non occurance of rain in the same 
day is 
A. 0.76   B. 0   C. 0.24    D. 1.76 
xU Fwpg;gpl;l ehspy; kionga;tjw;fhd epfo;jfT 0.76 vdpy; mNj ehspy; kio  nghopahky; 
,Ug;gjw;fhd epfo;jfT 
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A. 0.76   B. 0   C. 0.24    D. 1.76 
 

mwptpay; - SCIENCE 

121. In a wave motion transfer, which of the following transfer takes place? 
A. energy only      B) momentum only  
C) both energy and momentum        D) neither energy nor momentum 
miyapaf;fj;jpy; > fPo;fz;ltw;Ws; vJ guTk; 
A. Mw;wy; kl;Lk;     B. ce;jk; kl;Lk;  
c. ce;jk; kw;Wk; Mw;wy;    D. ce;jk; kw;Wk; Mw;wy; ,uz;Lky;y 

122. The ratio of one micron to one Fermi is  
 A) 106     B) 10-6   C) 109   D) 10-9 

xU ikf;uhDf;Fk; xU ngu;kpf;Fk; ,ilg;gl;l jfT 
A) 106     B) 10-6   C) 109   D) 10-9 

123. Which of  the following physical phenomena are responsible for rainbow? 
1.  Diffusion       2.  Refraction     3.  Internal reflection 
A) 1 and 2    (B) 2 and 3   (C) 1, 2 and  3  (D) 1 and 3 
thdtpy; Njhd;w fhuzkhd fPo;fhZk; epfo;Tfs; 
1. epwg;gpupif   2. xsptpyfy;   3. KO mf vjpnuhspg;G 
A) 1 and 2    (B) 2 and 3   (C) 1, 2 and  3  (D) 1 and 3 

124. A  body  immersed  in  a  fluid  experiences  an  upward  thrust  which  depends  on 
(A) the  weight  of  the  fluid  displaced  by  it  (B) the  volume  of  the  body 
(C) the mass  of  the  body     (D) none  of  these 
xU nghUshdJ gha;kj;jpy; Ko;fpapUf;Fk; NghJ mJ czUk; Nky;Nehf;fpa tpirahdJ --
------- rhu;e;jpUf;Fk; 
A. Ko;fpAs;s nghUspdHy; ntspNaw;wg;gl;l jputj;jpd;  vil 
B. Ko;fpAs;s nghUspd; gUkd; 
C. Ko;fpAs;s nghUspd; epiw   D. Nkw;$wpa vJTkpy;iy 

125. Match  List  I  with  List  II  and  select  the  correct  answer  using  the  codes  given            
below  the  Lists : 
   List I           List II 
  a. Melting of ice     1. Radiation 
  b. Heat  coming  from  the  Sun   2. Convection 
  c. Air circulation from sea    3. Latent heat 
            level to  higher  altitudes 
 d. Heating of a metal rod by   4. Conduction 
    keeping one end of it in a flame  
gl;bay; 1 kw;Wk; gl;bapy; ,uz;by; cs;s nrhw;fis fPo;fhZk; FwpaPLfSld; nghUj;Jf 
    gl;bay;1    gl;bay; 2 
a. gdpf;fl;b cUFjy;    1. fjpu;tPry; 
b. #upadplkpUe;J ntg;g Mw;wy; ngWjy;  2. ntg;gr;rydk; 
c. fly;kl;lj;jpypUe;J cau;kl;lj;jpw;F  
     fhw;W tPRjy;     3. cs;Siw ntg;gk; 
d. ciyapy; xUKidia itj;J ,Uk;Gj; 
   jd;bid ntg;gg;gLj;Jjy;   4. ntg;gf;flj;jy;   
a  b  c   d 
(A)  1  2   3  4   (B)  3  4  1   2 
(C)  4  1   3  2   (D)  3  1   2   4 

126.  The speed of sound in a medium 
 A) decreases with increase in temperature        B)  decreases with increase in pressure 
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 C) remains same with increase in temperature  D) has different variation for different  media 
Clfj;jpy; xypapd; jpirNtfk; 
A. ntg;gepiy mjpfupf;f FiwfpwJ  B. mOj;jk; mjpfupf;f FiwfpwJ 
B. ntg;gepiy mjpfupf;f khwhjpUf;Fk;   D. nt;NtW Clfj;jpy; ntt;Ntwhf mikAk; 

127. How does the eye change in order to focus on near or distant objects? 
(A) The lens moves in or out    (B) The retina moves in or out 
(C) The iris changes colour      (D) The lens bulges or relaxes 
mz;ik kw;Wk; Nra;ikapy; cs;s nghUl;fis ghu;g;gjw;F VJthf  fz; jdJ  ,ay;ig 
khw;wpf;nfhs;s Kbtjw;fhd top 
A. tpopNfhsk; Kd;Dk; gpd;Dk; efu;jy;  B. tpopj;jpiu Kd;Dk; gpd;Dk; efu;jy; 
C. Iup]; jdJ epwj;ij khw;wpf;nfhs;Sjy; D. tpopnyd;R RUq;fp tpupjy; 

128. Which of the following statements is incorrect? 
(A) The charge on an electron and on a proton are equal and opposite 
(B) Neutron has no charge      
(C) Electrons and protons have the same weight. 
(D) The mass of a proton and a neutron are nearly identical 
fPo;fz;ltw;Ws; rupaw;w $w;W vJ? 
A. vyf;l;uhd; kw;Wk; GNuhl;lhdpd; kpd;D}l;lq;fs; rkk; kw;Wk; vjpuhdit 
B. epAl;uhDf;F kpd;D}l;lkpy;iy 
C. vyf;l;uhDk;> GNuhl;lhDk; rk vil nfhz;liT 
D. GNuhl;lhd; kw;Wk; epAl;uhd; Vwf;Fiwa rk epiw nfhz;lit 

129. Suppose you are pushing on a loaded shopping cart. Which of the following is true? 
(A) If action force always equals reaction force, you cannot move the cart because the cart             
pushes you backward just as hard as you push forward on the cart 
B. You push the cart slightly harder than the cart pushes you backward, so the cart moves        
forward 
(C) You push before the cart has time to react, so the cart moves forward 
(D) You are in contact with the earth through your high friction shoes, while the cart is free to       
roll on its round wheels, so the cart moves 
gS Vw;wg;gl;l tz;bapid ePq;fs; js;s Kaw;rpf;fpwPu;fs; vdpy; > fPo;fz;ltw;Ws; rupahdJ 
vJ? 
A. tpid> vg;NghJk; vjpu;tpidf;F rkkhf ,Ug;gpd; ePq;fs; tz;bia js;s Kaw;rpf;Fk; 
NghJ vt;tsT tpirAld; tz;bia js;SNthNkh mNj tpirAld; tz;b ek;ik 
gpd;Ndhf;fp js;Stjpdhy; tz;b efu;tjpy;iy 
B.  tz;b js;Sk; vjpu;tpiria tpl cq;fs; tpir rw;W mjpfkhf ,Ug;gjpdhy; tz;b 
Kd;Ndhf;fp efUk; 
C. tz;b tpirnraw;gLj;Jk; Neuj;jpw;F Fiwthf tpiria mspg;gjpdhy; tz;b 
Kd;Ndhf;fp efUk; 
D. ePq;fs; mjpf cuha;T tpirAld; jiuj;jsj;jpy; ghjq;fis gjpj;jpUg;gjpdhYk;> 
tz;bahdJ cUSk; rf;fuq;fSf;F kPJ miktjpdhy; tz;b Kd;Ndhf;fp efUfpwJ 

130. Two electric bulbs, one 0f 200 volt 40 watt and other 200 volt 100 watt are connected in a              
house wiring circuit 
A. They have equal current flowing through them 
B. The resistance of the filaments in both the bulbs is same 
C. The resistance of the filament in 40 watt bulb is more than the resistance in 100 watt bulb 
D. The resistance of the filament in 100 watt bulb is more than the resistance in 40 watt bulb 
200 Nthy;l;> 40 thl; jpwd; kw;WK; 200 Nthy;l; > 100 thl; jpwd; nfhz;l ,U gy;Gfs; tPl;L 
xaupq;fpy; ,izf;fg;gl;Ls;sd vdpy; 
A. ,uz;bd; topahfTk; rk msT kpd;Ndhl;lk; nry;Yk; 
B. ,U tpsf;FfspYk; cs;s kpd;jilapd; msT rkk; 
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C. 40 thl; tpsf;fpYs;s kpd;jilapd; msT 100 thl; tpsf;fpYs;s kpd;jilia tpl 
mjpfk; 
D. 100 thl; tpsf;fpYs;s kpd;jilapd; msT 40 thl; tpsf;fpYs;s kpd;jilia tpl 
mjpfk; 

131. The main raw material required to prepare soap is 
A. acid    B. alcohol  C. sodium hydroxide  D. metal 
Nrhg; jahupf;f gad;gLk; Kf;fpakhd nghUs; 
A. mkpyk;   B. My;f`hy;  C. Nrhbak; i`l;uhf;irL D. cNyhfk; 

132. woolen fibres are obtained  from 
A. cow     B. sheep  C. coconut powder D. silkwarm 
fk;gsp E}y; vjpypUe;J ngwg;gLfpwJ 
A. gR    B. ML   C. Njq;fha; ehu; D. gl;LGO 

133. Greater surface area 
A. slower the rate of reaction    B. faster the rate of reaction 
C. no change in rate of reaction   D. reversed reaction takes place 
tpidA+f;fpfspd; gug;G mjpfupf;Fk; NghJ 
A. tpidNtfk; FiwfpwJ    B. tpidNtfk; mjpfupf;fpwJ 
C. tpidNtfj;jpy; ve;j khw;wKkpy;iy  D. gpd;Ndhf;F tpid eilngWk; 

134. The elements in 7 th period of periodic table are called as 
A. d – block element  B . halogen block C. lanthanide  D. p – block element 
jdpk tupir ml;ltizapy; 7 tJ tupir vd;gJ 
A. d njhFjp jdpkq;fs; B. N`y[d; njhFjp C. yhe;jidL njhFjp D.  p - njhFjp 

135. Number of elements shared by nitrogen atom in a molecule is 
A. 3    B. 5   C. 2   D. 7 
mk;Nkhdpah %yf;$wpy; iel;u[d; mZ gq;fPL vyf;l;uhd;fspd; vz;zpf;if 
A. 3    B. 5   C. 2   D. 7 

136. Molecular formula of sodium  phosphate is 
Nrhbak; gh];Ngl;bd; %yf;$W tha;ghL 
A. NaPO3   B. NaPO3  C. Na3PO4  D. Na2PO4 

137. Atomic mas of an element in an isotope is 
A. whole number  B. stable number C. fractional number D. addition number 
INrhNlhg;Gfisf; nfhz;Ls;s jdpk mZf;fs; ------- mZepiwfisg; ngw;Ws;sd 
A. KO    B. epiyahd   C. gpd;d   D. $l;l 

138. The metal which is not found in alnico is 
A. iron    B. cobalt  C. gallium  D. aluminium 
my;epf;Nfh]; cNyhff;fyitapy;  ,lk; ngwhj cNyhfk; 
A. ,Uk;G   B. Nfhghy;l;  C. Nfypak;  D. mYkpdpak; 

139. The technology used to cure cancer is 
A. bio  engineering  B. micro biology C. Nano technology D. Bio technology 
Gw;WNehiaf; Fzg;gLj;Jtjpy; gad;gLk; etPd njhopy; El;gk; 
A. kuGg;nghwpapay; B. Ez; capupay; C. ehNdh njhopy; El;gk; D. capup njhopy;El;gk; 

140. charged atom is called as electron.. This statement is given by 
A. George than stanter stony    B. Newland 
C. JJ Thomson     D. Chadwick 
 kpd;mZf;fs; vd;git vyf;l;uhd;fs; vd;W $wpatu;A 
A. [hu[;  [hd; ];Nld; ];Nlhdp   B. epANyz;l;  
C.  N[. N[. jhk;rd;     D. rhl;tpf; 

141. “The bird of paradise flower” refer to 
A. stelitzia reiganae     B. Ravenala madagascariensis 
C. Musa testalis      D. Musa paradisiaca 
gwitfspd; nrhu;f;f kyu; vd;wiof;fg;gLk; jhtuk; 
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A.  ];nlupyp;rpah nu[pdh    B. uhtndy;yh klfh];fhupahrp]; 
C. kpArh nlf;];ilyp];    D. kpArh ghub]pahfh 

142. Hugodevries first used the term mutation based on his observation on  
A.sorghum B. Neursopora   C . cicer actinium D. oenotherala marckinana 
ve;j jhtuj;jpy; `pANfhbt;up]; jpBu; khw;wj;ijf; fz;lwpe;jhu;? 
A. Nrhsk; B. epANuhs;Nghuh  C. irru; Mupl;b] D.<NdhjPuhyhkhu;fpahdh 
 

143. pseudomonas putida (superbug) is a engineered bacterium  that can digest  
A. Harmone  B. antibiotic  C. pollute the soil D. Crude oil slick 
[_d; ,lk; khw;wpaikf;fg;gl;l #NlhNkhdh];  
A. `hu;Nkhd;   B. capup vjpupg;nghUs; C. fr;rh vz;nza; D. kz;tsk; 

144. Enriched vitamin tablets are produced from the following organism for human consumption 
A. Nastoe  B. yeast  C. Mushroom  D. spirulina 
kdpjd; cl;nfhs;sj;jf;f itl;lkpd; nrwpe;j khj;jpiufs; ,jpypUe;J jahupf;fg;gLfpd;wd 
A. eh];lhf;  B. <];l;  C.  fhshd;  D. ];igFypdh 

145. Dark reaction occurs in 
A. peroxisome  B. mitochondria C. chloroplast  D. ribosome 
,Ul;Rthrk; ,jpy; eilngWfpwJ 
A. nguhf;]pNrhk; B. ikl;Nlhfhd;bupaq;fs; C. gRq;fzpfk;  D. iuNghNrhk; 

146. The german scientist who segregated germplasm  from  somatoplasm for the first time is 
A.lamark   B. August Weismann C. Malthus  D. Hugodevries 
n[u;k; gpshrf; nfhs;ifia ntspapl;l n[u;kd; mwpQu; ahu;? 
A.yhkhu;f;  B. Mf];L tP];Nkd; C. khy;jh];  D. nkf;̂ y]; 

147. The milk of which cow has a characteristic yellow colour because of high carotene content? 
A. sindhi   B. Haryana   C. Gir   D. Jersy 
fPo;fhZk; gR ,dq;fspy; vjDila ghypy; mjpf fNuhl;bd; rj;J cs;sJ 
A. rpe;jp ,dk;  B. `upahd ,dk;  C. fpu; ,dk;  D. n[u;rp ,dk; 

148. Which bio reserve is commonly considered as a biological paradise? 
A. Nanda devi  B. Great nicobar  C. Gulf of mannar D. Nilgris 
capupay; nrhu;f;fkhf fUjg;gLk; capupay; kpFtsk; 
A.ee;jpNjtp  B. epf;Nfhghu;   C. kd;dhu;tisFlh D. ePyfpup 

149. About how many hereditary diseases in human beings had been  identified? 
A. more than 300 B. less than 300  C. about 400  D. about 100 
kdpjdpy; vj;jid kuGf;Fiwghl;L Neha;fs; fz;lwpag;gl;Ls;sD. 
A. 300f;Fk;mjpfkhd B. 300f;Fk; Fiwthd C. Vwf;Fiwa 400 D. Vwf;Fiwa100 

150. How will you name a graft ifan organ is transplanted form a cat to a dog? 
A.Xenograft  B. Allograft   C. autograft  D. Isograft 
G+id kw;Wk; eha;fSf;fpilNa eilngWk; cWg;G xl;L ,t;thW miof;fg;gLfpwJ 
A. n[Ndh fpuhg;l; B. my;Nyhfpuhg;l;  C. Ml;Nlhfpuhg;l; D. INrhfpuhg;l;  
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